
2024
ENVIRONMENTAL

PRODUCT
DECLARATION 

in  a c c o r d a n c e  w i t h  I S O 1 4 0 2 5 : 2 0 0 6
a n d  EN15 8 0 4 : 2 0 1 2+A2 : 2 0 1 9AC : 2 0 2 1

Prog r amme :  t h e  i n t e r n a t i o n a l  EPD® Sy s t em ,  www . en v i r o ndec . c om

P rog r amme  ope r a t o r :  EPD  I n t e r n a t i o n a l  AB

EPD  r eg i s t r a t i o n  n umbe r :  S -P-11223

Pubb l i c a t i o n  d a t e :  2023-11-24

Va l i d  u n t i l :  2 028-11-24

An  EPD  s hou l d  p r o v i d e  c u r r e n t  i n f o rma t i o n 
a nd  may  be  upda t ed  i f  c ond i t i o n s  c h ange .

T he  s t a t e d  v a l i d i t y  i s  t h e r e f o r e  s ub j e c t 
t o  t h e  con t i n u ed  r e g i s t r a t i o n  a nd  pub l i c a t i o n 

a t  www . en v i r o ndec . c om

f rom ERREB I  MARMI  S . r . l .
f o r  MARBLE T ILES (1cm th ickness )



Summary

001
General
information

006
Warehouse
& show-room

002
Company
information

007
Product
information

003
Mission

008
LCA

004
The culture
of marble

009
System
boundary

005
Bettogli "A"
Our quarry

010
Content
information

011
Results of the    
environmental   
performance 
indicators

•	MANDATORY IMPACT         
CATEGORY INDICATORS      
ACCORDING TO EN 15804

•	ADDIT IONAL MANDATORY    
AND VOLUNTARY IMPACT    
CATEGORY INDICATORS

•	RESOURCE USE INDICATORS

•	WASTE INDICATORS

•	OUTPUT FLOW INDICATORS

•	ACRONYMS



General 
information

EPD PROGRAMME The  I n t e r n a t i o n a l  EPD® Sy s t em

ADDRESS EPD  I n t e r n a t i o n a l  AB  Box  210  60 ,  SE-100  31  S t o c kho lm ,  Sweden

WEBS I T E www . en v i r o ndec . c om

E-MA I L i n f o@env i r o ndec . c om

PRODUCT  CATEGORY  RULES  ( PCR )

CEN  s t a nda r d  EN  15804  s e r v e s  a s  t h e  Co r e  P r oduc t  Ca t e go r y  Ru l e s  ( PCR )
P r oduc t  Ca t e go r y  Ru l e s  ( PCR ) :  Con s t r u c t i o n  p r oduc t s ;  2019 : 14  v e r s i o n  1 . 3 . 0 ;
CPC  151 :  Monumen t a l  a nd  bu i l d i n g  s t o ne
PCR  r e v i ew  wa s  conduc t ed  b y :  T he  Techn i c a l  Comm i t t e e  o f  t h e  I n t e r n a t i o n a l  EPD® Sy s t em . 
Re v i ew  cha i r :  C l a ud i a  A .  P eña ,  Un i v e r s i t y  o f  Concepc i ó n ,  Ch i l e . 
T he  r e v i ew  pane l  ma y  be  con t a c t e d  v i a  t h e  Sec r e t a r i a t :  www . en v i r o ndec . c om/con t a c t .

L I F E  CYCLE  ASSESSMENT  ( LCA ) LCA  a c coun t a b i l i t y :  S 4  S . r . l . 

TH I RD-PARTY  VER I F I CAT ION

I ndependen t  t h i r d -pa r t y  v e r i f i c a t i o n  o f  t h e  dec l a r a t i o n  a nd  d a t a , 
a c co r d i n g  t o  I SO  14025 : 2006 ,  v i a :
✔  EPD  v e r i f i c a t i o n  b y  a c c r ed i t e d  c e r t i f i c a t i o n  bod y
     
T h i r d -pa r t y  v e r i f i c a t i o n :  DNV  Bu s i n e s s  A s su r a n ce  I t a l i a  S . r . l .  i s  a n  app r o v ed  c e r t i f i c a t i o n 
bod y  a c coun t a b l e  f o r  t h e  t h i r d -pa r t y  v e r i f i c a t i o n .

T he  c e r t i f i c a t i o n  bod y  i s  a c c r ed i t e d  b y :  ACCRED IA  (Reg i s t r a t i o n  n umbe r  008H  r e v . 01 )

P r o cedu r e  f o r  f o l l ow-up  o f  d a t a  du r i n g  EPD  v a l i d i t y  i n v o l v e s  t h i r d  p a r t y  v e r i f i e r :
✔  Ye s 	    No

EPD  OWNER The  EPD  owne r  h a s  t h e  s o l e  owne r s h i p ,  l i a b i l i t y ,  a nd  r e spon s i b i l i t y  f o r  t h e  EPD . 

001

EPDs  w i t h i n  t h e  s ame  p r oduc t  c a t e go r y  bu t  r e g i s t e r e d  i n  d i f f e r e n t  EPD  p r og r ammes ,  o r  no t  c omp l i a n t  w i t h  EN  15804 ,  ma y  no t  b e  compa r ab l e . 

F o r  t wo  EPDs  t o  be  compa r ab l e ,  t h e y  mus t  b e  b a s ed  on  t h e  s ame  PCR  ( i n c l u d i n g  t h e  s ame  v e r s i o n  numbe r )  o r  b e  b a s ed  on  f u l l y - a l i g n ed 

PCRs  o r  v e r s i o n s  o f  PCRs ;  c o v e r  p r oduc t s  w i t h  i d e n t i c a l  f u n c t i o n s ,  t e c hn i c a l  p e r f o rmance s  a nd  u s e  ( e . g .  i d e n t i c a l  d e c l a r e d/ f u n c t i o n a l  u n i t s ) ; 

h a v e  equ i v a l e n t  s y s t em  bounda r i e s  a nd  de s c r i p t i o n s  o f  d a t a ;  a pp l y  equ i v a l e n t  d a t a  qua l i t y  r e qu i r emen t s ,  me t hod s  o f  d a t a  c o l l e c t i o n ,  a nd 

a l l o c a t i o n  me t hod s ;  a pp l y  i d e n t i c a l  c u t - o f f  r u l e s  a nd  impac t  a s s e s smen t  me t hod s  ( i n c l u d i n g  t h e  s ame  v e r s i o n  o f  c h a r a c t e r i s a t i o n  f a c t o r s ) ; 

h a v e  equ i v a l e n t  c on t e n t  d e c l a r a t i o n s ;  a nd  be  v a l i d  a t  t h e  t ime  o f  c ompa r i s o n .  F o r  f u r t h e r  i n f o rma t i o n  abou t  c ompa r ab i l i t y ,  s e e  EN  15804  and 

I SO  14025 .



002

Sculpture gives a soul to marble
Franço is René de Cha teaubr iand

Owne r  o f  t h e  EPD :  E r r e b i  Ma rm i  S . r . l

Con t a c t :  M r .  Robe r t o  Ma j e l l o 
E -ma i l :  i n f o@rbma rm i . i t 

E r reb i  Marmi S . r . l .  i s  a young company born f rom the 
need to br ing to the marke t  the mater ia ls  ex t rac ted 
by the Ferd inando Vane l l i  d i  G iorg io Vane l l i  S . r . l . 
Company .
Th is ex t rac t ion ac t i v i t y  has been car r ied ou t  by the 
Vane l l i  fami l y  in quar ry number 70 in the Be t tog l i 
a rea o f  Car ra ra fo r  hundreds o f  years . 

Company
information

Description
of the organisation

Produc t- re la ted or management
sys tem-re la ted cer t i f i ca t ion :  N .A .

Name and loca t ion o f  produc t ion s i te (s ) :
Er reb i  Marmi S . r . l .
V ia Br iga te Par t ig iane ,  13
54033 Car ra ra (MS)



003

Mission Through the new company 
Er reb i  Marmi S . r . l .  the range 
o f  mater ia ls  w i l l  be expanded 
to sa t i s f y  a l l  cus tomer needs .

Today we are ab le to prov ide 
you wi th s labs ,  f in i shed 
produc ts and t i les coming 
f rom the marb le we produce 
as we l l  as f rom o ther mater ia ls 
f rom a l l  over the wor ld .

Upon reques t  we are ab le to 
tack le the crea t ion o f  pro jec ts 
in any fo rmat and mater ia l .

The open-a i r  Be t tog l i  "A" 
quar ry o f fe rs d i f fe ren t  t ypes 
o f  marb le such as : 

•	 S ta tuary marb le
•	 Vena ted s ta tuary
•	 Vena t ino
•	 Ca laca t ta
•	 Bard ig l io



004

The culture
of marble

FUORISALONE 2017
WHITE CARRARA DOWNTOWN 2018
ZEN GARDEN 2019
STAND MARMOMAC 2019

The quar ry i t se l f ,  thanks to the f i rm suppor t  o f  the 
Vane l l i  fami l y ,  has equ ipped i t se l f  w i th an In tegra ted 
Management Sys tem to address and manage a l l 
aspec ts re la t ing to the s ign i f i can t  env i ronmenta l 

fac to rs presen t  in the quar ry and those 
re la t ing to the sa fe ty and hea l th o f  i t s 
workers .  Th is w i l l  i s  fo rma l l y  expressed 
by the Company Po l icy document .



Bettogli "A"
Our quarry

The known h is to ry o f  th is quar ry beg ins on 
18 June 1818 when a con t rac t  was drawn up 
by the Nota ry P ie t ro Bernardo P isan i  be tween 
Count  Car lo De l  Med ico S ta f fe t t i  and Miche le 
and Gregor io Vane l l i ,  wh ich sanc t ioned , 
on the bas is o f  the ed ic t  o f  Mar ia Teresa 
D 'Es te o f  1 February 1751, the concess ion 
in perpe tu i t y  to Miche le and Gregor io Vane l l i 
and the i r  descendan ts in the male l ine ,  o f 
the r igh t  to excava te th roughout  the en t i re 
Monte Be t tog l i  s i te .

In th is way the quar ry reached Vane l l i  G io rg io , 
who was ab le to purchase the concess ion 
r igh ts and con t inue excava t ing accord ing to 
the new Agr i  Marmi fe r i  regu la t ions o f  2001.

The Be t tog l i  “A” quar ry ,  cur ren t l y  excava ted 
by the company VF MARMI S . r . l . ,  i s  loca ted 
in the Be t tog l i  a rea a t  no .  70 o f  the Cave 
Reg is t ry o f  the Mun ic ipa l i t y  o f  Car ra ra ,  in 
the Torano bas in .  I t  i s  loca ted a t  a he igh t  o f 
approx imate ly 500 meters above sea leve l , 
on the nor thern s lope o f  Monte Be t tog l i .

The quar ry i s  cu l t i va ted in an "open-a i r " 
manner w i th s teps descend ing in a nor ther l y 
d i rec t ion .  The processes are car r ied ou t 
us ing the la tes t  genera t ion mach inery ,  such 
as cha in cu t te rs ,  d iamond wi re mach ines , 
whee l  loaders and t racked excava to rs .

Venat ino , Venated s ta tuary ,  S ta tuary ,  Ca laca t ta 
and Bard ig l io marb le is ex t rac ted .

Venatino

Venated 
statuary

Statuary

Calacatta

Bardiglio

005

1818
T H E  B I R T H  O F  T H E  Q U A R R Y

2001
T H E  P U R C H A S E  O F  R I G H T S

2020
O U R  F U T U R E



Warehouse 
& show-room

We wi l l  be happy to we lcome you to our company ,  where 
you cannot  he lp bu t  apprec ia te the mater ia ls  d isp layed in 
our warehouse and in our showroom.

Marble blocks Marble slabs
Erreb i  Marmi S . r . l .  has exce l len t  mate-
r ia ls  and advanced techno log ies wh ich 
today a l low fo r  easy ex t rac t ion o f  the 
b locks and s to rage in conven ien t  yards 
where the mater ia ls  can be v iewed.

The s labs are processed in the mos t 
modern labora to r ies w i th h igh techno logy , 
they too ,  l i ke the marb le b locks ,  a re 
d isp layed in comfor tab le squares and 
showrooms to be v iewed and chosen .

006



Informazioni
generali

007

Product
information

Marb le  t i l es 
1cm t ickness 

Marb le t i l es 1cm th ick ,  p roduced by 
Er reb i  Marmi S . r . l .  w i th var ious w id th 
and leng th .

1 cm

PRODUCT DESCRIPT ION
Marb le is a ca lcareous na tu ra l  s tone wi th a dens i t y  o f  2 .7 tons/m3. 
The produc ts covered by the s tudy are in tended fo r  indoor and ou tdoor f loor ing 
or c ladd ing ,  fo r  the cons t ruc t ion o f  a rch i tec tu ra l  works and bu i ld ing cons t ruc t ions .

UN CPC code:
151 Monumenta l  and bu i ld ing s tone
151 20 Marb le and o ther ca lcareous monumenta l  o r  bu i ld ing s tone

GEOGRAPHICAL SCOPE: 

A1-A3        		             GLO/I ta ly
C1-C4 and D        		     GLO



PRODUCT
STAGE

RAW MATERIAL SUPPLY
AND MANUFACTURING

PACKAGING
AND TRANSPORTUSE

STAGE

END OF LIFE 
STAGE

LCA

LCA INFORMATION
Functional Unit/declared Unit:
1 square meter of tiles

Reference service life: 
Product Reference Service Life 
is dependent on product application. 
Marble itself has an infinite lifetime.

Time representativeness:
The reference year of the study is 
January 2022 - December 2022

Database(s) and LCA software used: 
Ecoinvent 3.8 and OpenLCA 1.10.3

Description of system boundaries: 
Cradle to gate with modules C1-C4 and 
module D (A1-A3 + C+ D).

E lec t r ic i ty  mix
Purchased electricity used in manufacturing 
process of module A3 is modeled on the 
2022 italian residual mix. 
Its impacts is 0.782 kg CO2eq/kWh (GWP-GHG).

LCA

1 meter

1 
m

et
er



System
boundaries

009

Modules dec la red ,  geograph ica l  scope ,  share o f  spec i f i c  da ta ( in GWP-GHG resu l t s )  and da ta var ia t ion 
( in GWP-GHG resu l t s ) :

PRODUCT
STAGE

CONSTRUCTION 
PROCESS 
STAGE

USE 
STAGE

END-OF-L IFE
STAGE

RESOURCE 
RECOVERY

STAGE

R
aw

 m
aterial supply

Transport

M
anufacturing

Transport

C
onstruction/Installation

U
se

M
aintenance

R
epair

R
eplacem

ent

R
efurbishm

ent

O
perational energy use

O
perational w

ater use

D
ecostruction/D

em
olition

Transport

W
aste processing

D
isposal

R
euse/R

ecovery
R
ecycling potential

MODULE A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

MODULES 
DECLARED X X X INA INA INA INA INA INA INA INA INA X X X X X

GEOGRAPHY GLO GLO IT - - - - - - - - - GLO GLO GLO GLO GLO

SPECIF IC 
DATA USED 60% - - - - - - - - - - - - - -

VARIAT ION 
PRODUCTS Not app l icab le - - - - - - - - - - - - - -

VARIAT ION 
S ITES Not app l icab le - - - - - - - - - - - - - -



PRODUCT
COMPONENTS WEIGHT,  KG POST-CONSUMER MATERIAL , 

WEIGHT-%
BIOGENIC MATERIAL , 

WEIGHT-% AND KG C/KG

MARBLE 27 --- ---

TOTAL 27 --- ---

PACKAGING 
MATERIALS WEIGHT,  KG WEIGHT-% 

(VERSUS THE PRODUCT)
WEIGHT B IOGENIC CARBON, 

KG C/KG

WOOD 2.18 <0 .1% 1.09

POLYETHYLENE 0.00041 <0.1% ---

POLYURETHANE 0.00022 <0.1% ---

TOTAL 2.18 8 .1% 0.00070

Content 
information

010



IND ICATOR REFERENCE
UNIT A1 -  A3 C1 C2 C3 C4 D

ADP*  ( foss i l ) MJ 1 .87E+02 5.02E-01 1.90E+00 0.00E+00 3.93E+00 0.00E+00

ADP*  (minera ls and meta ls ) Kg Sb eq 3.95E-05 1.49E-08 2.87E-07 0.00E+00 3.17E-07 0.00E+00

AP Mole H+ eq 5.41E-02 1.63E-04 8.53E-04 0.00E+00 1.34E-03 0.00E+00

EP  F reshwater Kg Peq 1.75E-03 1.12E-06 7.98E-06 0.00E+00 1.32E-05 0.00E+00

GWP  B iogen ic Kg CO2 eq 2.33E+00 6.84E-06 7.67E-04 0.00E+00 9.25E-05 0.00E+00

GWP  Foss i l Kg CO2 eq 1.49E+01 3.71E-02 1.23E-01 0.00E+00 1.42E-01 0.00E+00

GWP  Lu luc Kg CO2 eq 5 .20E-05 6.38E-09 3.53E-05 0.00E+00 1.02E-07 0.00E+00

GWP  To ta l Kg CO2 eq 1.72E+01 3.71E-02 1.24E-01 0.00E+00 1.42E-01 0.00E+00

EP  Mar ine Kg N eq 1.83E-02 6.04E-05 3.37E-04 0.00E+00 4.67E-04 0.00E+00

ODP Kg CFC-11 eq 2.02E-06 7.94E-09 2.92E-08 0.00E+00 5.84E-08 0.00E+00

POCP Kg NMVOC 4.34E-02 1.89E-04 1.04E-03 0.00E+00 1.48E-03 0.00E+00

EP  Ter res t r ia l Mo le Neq 1.39E-01 6.62E-04 3.78E-03 0.00E+00 5.13E-03 0.00E+00

WDP* m3 4.18E+00 1.22E-03 8.91E-03 0.00E+00 1.84E-01 0.00E+00

Results of the environmental performance indicators
MANDATORY  IMPACT  CATEGORY  IND ICATORS  ACCORD ING  TO  EN  15804

011

IMPACT CATEGORY REFERENCE 
UNIT A1 -  A3 C1 C2 C3 C4 D

GWP-GHG Kg CO2 eq 1.49E+01 3.68E-02 1.22E-01 0.00E+00 1.39E-01 0.00E+00

ADD I T IONAL  MANDATORY  AND VOLUNTARY  IMPACT  CATEGORY  IND ICATORS



IMPACT CATEGORY REFERENCE
UNIT A1 -  A3 C1 C2 C3 C4 D

PERT MJ 9.21E+01 2.57E-03 2.30E-02 0.00E+00 3.13E-02 0.00E+00

PERM MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PERE MJ 9.21E+01 2.57E-03 2.30E-02 0.00E+00 3.13E-02 0.00E+00

PENRT MJ 1.97E+02 5.06E-01 1.94E+00 0.00E+00 3.97E+00 0.00E+00

PENRM MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PENRE MJ 1.97E+02 5.06E-01 1.94E+00 0.00E+00 3.97E+00 0.00E+00

SM Kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

RSF MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

NRSF MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

FWT m3 4.56E-03 2.56E-06 5.14E-05 0.00E+00 4.05E-03 0.00E+00

RESOURCE  USE  IND ICATORS

IMPACT CATEGORY REFERENCE
UNIT A1 -  A3 C1 C2 C3 C4 D

HWD Kg 2.90E-04 1.37E-06 4.67E-06 0.00E+00 5.86E-06 0.00E+00

NHWD Kg 1.29E+01 2.37E-02 2.56E-01 0.00E+00 2.72E+01 0.00E+00

RWD Kg 3.70E-04 3.52E-06 1.33E-05 0.00E+00 2.61E-05 0.00E+00

WASTE  IND ICATORS

012

Z E N  G A R D E N  [ V E R O N A ]  -  2 0 1 9



013

IMPACT CATEGORY REFERENCE
UNIT A1 -  A3 C1 C2 C3 C4 D

CRU Kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

MFR Kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

MER Kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

EE MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

OUTPUT  F LOW IND ICATORS
ENVIRONMENTAL IMPACTS: 
ADP* - Abiotic Depletion Potential
         (fossil - minerals & metals); 

AP - Acidification Potential; 

EP - Eutrophication Potential;

GWP - Global Warming Potential; 

ODP - Ozone Depletion Potential; 

POCP - Photochemical Ozone Creation Potential; 

WDP* - Water Deprivation Potential.

RESOURCE CONSUMPTION:
PERE - Use of renewable primary energy excluding 
renewable primary energy resources used as raw materials; 

PERM - Use of renewable primary energy resources used 
as raw materials; 

PERT - Total use of renewable primary energy resources; 

PENRE - Use of non-renewable primary energy excluding 
non-renewable primary energy resources used as raw 
materials; 

PENRM - Use of non-renewable primary energy resources 
used as raw materials; 

PENRT - Total use of non-renewable primary energy 
resources; 

SM - Use of secondary material;
 
RSF - Use of renewable secondary fuels; 

NRSF - Use of non-renewable secondary fuels;
 
FWT - Use of net fresh water;

WASTE PRODUCTION:
HWD - Hazardous waste disposed;

NHWD - Non-hazardous waste disposed;

RWD - Radioactive waste disposed;

CRU - Components for reuse;

MFR - Materials for recycling;

MER - Materials for energy recovery;

EE - Exported energy;

*  D i sc l a imer : 
The resu l t s  o f  t h i s  env i ronmen ta l  impac t  i nd ica to r  sha l l  be 
used w i th  ca re as the unce r t a i n t i es  o f  t hese resu l t s  a re  h igh 
o r  as  the re i s  l im i t ed expe r i ence w i th  the ind ica to r .

7 0 T H V E S T R Y  S T R E E T
[ N E W  Y O R K ]  -  2 0 1 7

ACRONYMS



2024
ENVIRONMENTAL
PRODUCT
DECLARATION 

References Genera l  Programme Ins t ruc t ions o f  the In te rna t iona l  EPD® Sys tem. Vers ion 4 .0 .

Produc t  Ca tegory Ru les (PCR) :  Cons t ruc t ion produc ts ; 
2019:14 vers ion 1 .3 .0 ; 
CPC 151: Monumenta l  and bu i ld ing s tone .


